Summary

Interval estimation is a process of obtaining an interval in which the parameter value is
expected to lie

A confidence interval gives an estimated range of values which is likely to include an
unknown population parameter, the estimated range being calculated from a given set of
sample data

The width of the confidence interval gives us some idea about how uncertain we are
about the unknown parameter

The confidence level is the probability value (1-a) associated with a confidence interval
which is often expressed as a percentage

95% Confidence Interval for the population mean p for the known population variance is

given by
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100(1-a)% Confidence Interval for the population mean p for an unknown population
variance is given by
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